Offline TectupoBaHue
KoMnoHeHTbI [Lane Changes]

EnkuH AHgpen, QA



Kak TecTMpoBanuncb NepecTpoeHunst paHbLle

TunnyHble nponyckaemesle daru

[ToKpbITME cLueHapUeB nynamm

Kakue nameHeHums tenepb nosiydaeTcs NoBUTL JIETKO

MeTpukn

[Tpobrembl ¢ MeETPUKaAMMK

YnyduweHne meTpukn lane _change_ duration

TekyLwime npobnemsbl
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28 JANUARY 2021 14:11:07

Steerxring cmdd:=3.3

Acc= 0. Thr/Bx:

GNSS: y signal/ (e

L1On:

Vel cmd= 3.6/cur= 3.9/exrr=-0.3

Acc cmd= -0.28/cur= 0.54/err=-0.82 tr=0
Jexrk: -0.0 FTTR= inf/ inf LTTR= inf/ inf
N Acc: cmd=-0.01/cur= 0.91/jexrk=-0.00

L= 221.17m | Klaxon: © | Dist err=-0.1
Sp.con. 2.7m/s SlowdownNearlLanePat..:
9.6mR3.35@0-0.5m/s2@-0.1m/s3

GW: auto, CI: Auto, ThxBr: I, PL: Active
Grip 5.0, Selector: cur=D

DE: 7.29m, 0.43d (1.00km)

CPU_la=41.0 / GPU_util=54

DM: Beeper DD: 0.0
Prepare lane change

BL Loops: 0G:93|Pr:38

Latency: LOC:8|/0G:143|PED:343|TV:343

SP Lat.: LOC:109|06:177|PED:343|TV:343
Dirty: cifm=0.0 s1f=0.0 srf=0.0 sl=
GEOM. OPT: GOOD

MotionTrajectory ts: 1611834550.271811962
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500

Pulsar exception: Error resolving path //home/selfdriving/simulator/pools/prod/1202/runs/52 common metrics output/@
Node //home/selfdriving/simulator/pools/prod/1202/runs has no child with key "52 common metrics output”

¥rk¥k* Details:
Received HTTP response with error
origin z5nhuiabybgka3aw.sas.yp-c.yandex.net on 2022-08-30T15:26:45.042850Z
url http://hahn.yt.yandex.net/api/v4/get
request headers {
"User-Agent": "Python wrapper r9906445",
"Accept-Encoding": "br, gzip, identity",
"X-Started-By": "{\"pid\"=117;\"user\"=\"root\";}",
"X-YT-Header-Format": "<format=text>yson",
“X-YT-Parameters": "
{\"suppress transaction coordinator sync\"=%false;\"path\"=\"//home/selfdriving/simulator/pools/prod/1202/runs/52 common
butes\"=[\"type\";\"chunk count\";\"compressed data size\";\"dynamic\";\"row count\";\"uncompressed data size\";];\"retu
<\"ignore inner attributes\"=%false;\"always create attributes\"=%false;\"format\"=\"binary\";\"lazy\"=%false;\"sort key
"X-YT-Correlation-Id": "d58009d3-fa®b7e3f-34a7618e-dfla8565"
}

response headers {

"Cache-Control": "no-store",

“Content-Length": "687",

"Content-Type": "application/json",

"X-YT-Error": "{\"code\":500,\"message\":\"Error resolving path
//home/selfdriving/simulator/pools/prod/1202/runs/52 common metrics output/@\",\"attributes\":{\"host\":\"m0@05-hahn.sas.
c.yandex.net\",\"pid\":240,\"tid\":7086637403583047736,\"fid\":18442669888910453701,\ "datetime\":\"2022-08-
30T15:26:45.0399127\",\"method\":\"Get\",\"path\":\"//home/selfdriving/simulator/pools/prod/1202/runs/52 common metrics
[{\"code\":500,\"message\":\"Node //home/selfdriving/simulator/pools/prod/1202/runs has no child with key \\\"52 common_
{\"host\":\"mO05-hahn.sas.yp-c.yandex.net\",\"pid\":240,\"tid\":7086637403583047736,\"fid\":18442669888910453701,\"datet

"X-YT-Proxy": "sas2-8938-proxy-hahn.sas.yp-c.yandex.net",

"X-YT-Request-Id": "119caedd-aebb9829-2ed4afd47a-bb75fab7",

"X-YT-Response-Code": "500",

"X-YT-Response-Message": "Error resolving path //home/selfdriving/simulator/pools/prod/1202/runs/5

"X-YT-Response-Parameters": {},

"X-YT-Trace-Id": "9d3a00d2-2c2fcd39-757df776-5b119190",

"Authorization": "XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX"
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